
 

 

Assorted Box No: AT21 

 
 
 
 
 
 
 
 
 

PART No. SW1 
 

3/16” Spring Washer 
 
 

Quantity: 400 
 

 
 
 
 
 
 
 
 
 

PART No. SW4 
 

3/8” Spring Washer 
 
 

Quantity: 200 
 

 
 
 
 
 
 
 
 
 

PART No. SW3 
 

5/16” Spring Washer 
 
 

Quantity: 200 
 

 
 
 
 
 
 
 
 
 

PART No. SW2 
 

¼” Spring Washer 
 
 

Quantity: 200 
 

Customer: Beal (UK) Ltd. 
  

Imperial Spring Washers (3/16”-3/8”) 

Front Label 

Content: 1000 

Box Colour: CLEAR 
 


